
SAP ABAP table OIRBLAA {Location area assignment (IS-OIL SSR)}

OIRBLAA

MANDT [CLNT (3)]

RNBT [CHAR (4)]

LOCAA [CHAR (5)]

LOCAACTRY [CHAR (3)]

LOCREG [CHAR (4)]

LOCAREA [CHAR (4)]

LOCSAREA [CHAR (4)]

OIRARNBT

MANDT [CLNT (3)]

RNBT [CHAR (4)]

 OIRBLAA-RNBT = OIRARNBT-RNBT 
0..N

0..N

OIRBAREA

MANDT [CLNT (3)]

AREACTRY [CHAR (3)]

LOCAREA [CHAR (4)]

 OIRBLAA-LOCAREA = OIRBAREA-LOCAREA {0,1}

1

OIRBREG

MANDT [CLNT (3)]

REGCTRY [CHAR (3)]

LOCREGION [CHAR (4)]

 OIRBLAA-LOCREG = OIRBREG-LOCREGION 
{0,1}

1

OIRBSAREA

MANDT [CLNT (3)]

SAREACTRY [CHAR (3)]

LOCSAREA [CHAR (4)]

 OIRBLAA-LOCSAREA = OIRBSAREA-LOCSAREA 

{0,1}

1

T000

MANDT [CLNT (3)]

 OIRBLAA-MANDT = T000-MANDT 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 OIRBLAA-LOCAACTRY = T005-LAND1 

0..N

0..N


